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C++ 799 : /N 29N

(yns 20) 1 1990 NINY

MN 93 D99Nn (0<t<26) t 190HR DYINIT .OMAWN MINN 12N NI 10D 1918
DPMN 26 W IR I T NN 9N T TR NI NOYTID 1IN

(A->D, B->E, ... X->A, Y->B, Z->C t=3 "2y : non10)

830 "m0Pn TN OMN DNNINN APRNBN NPIND 1N25 vy (MNP 10) (X
:INAN NPENNRT APIPHI NN PTHINT ¥ 10100

D>V Yapn WY — (default constructor) YTNN AP ONL .
char * »on YorI9 Yapnin (constructor) 2

NVINDT IR VYR LVPD NWWORDN NINPND

VY9 NINBN AN DTN NIVANNDN TPIPNO

95 NIINNN AN NPANNY t NN TP NYAPRN encrypt PPN
SO 1
)oY prototypes 209 P NIX ,HVPEPND YnnY PR At Yol 115 oY

MYNONT NINOT DN IPONNT encrypt MYPNAN NN Ynns v (M) 10) (2
,ITIINNA AP DTN MIN YD DY M YT DY NYYR MASNN 0P 191N

{("DEABa“ Y j93m "ABXYa” nunnn =3 ox : 1) .t T2

. & & O
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MNFI 20) 2 9990 NINY

DIV NN str.int o0 OVRWN i, § .o+ nowa nvmn WOPNK N30n N9
DD LIS NN NI |INT DWW ¥ DBVYOAR TAN 993 AP20n T1N3) char*
AT NWND I/NVIN TN PD W 19 D Yopn
INIP YUPN OO DO D (M1 7) (N
strepy(str, “ABCD”);
=0: _
stri++1]="\0’;
cout<<str<<endl;
ININ YOPT OPO2 DOTY NN (M 6} (2
for(i=2; i<5; ++1)
for(j=i; j<2*i; ++j)
H{( 1(i%j) )
cout<<y<<’ ¢;
cout<<end;
ININ VORI DOVPOI DTy R (M 7)Y O
strepy(str, “ABCD™);
1=str{1]-"A’;
cout<<(str+i)<<endi;
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class Image{

bool M]N][N};
public:

void set();

void print() const;

int similar(const Image &im) const;
15
77 127900 NNI0N NI OMNA 0T DY NNV NN HPOHNN

JIINA TTINN AP XIN N {1 N0 D2y AN
VL DM DMIDINA T90ND MNMVUKD RY Pa3 MrRT DITPRY YT

- (N=3 12¥59) 3X3 5112 NINM0n DY MMISn ANIN NOWTI . MSmonn
P2 (IPY2 DIMIONN TN} DY OMBNR 4 ¢S APNIN MINAT v 190

L4 2N YIRTH DTPN
1O (0@o
0 (0 1 ©
1 0@ o 1@

NN PN N PSPND similar OSPNSN DR woRS ¥ (MM 12) (X
(im) N5W 0NN P2 DYONN VPPIIND P W OTPHD
' SPSPNIN NN NN W (MNPI8) (2
int findSimilar(const Image &im, const Image imarr[], int size)
DOPPIR TN LIM) VPPN DMVHID WYY NYAPH PIPNN
OPIPRN AN PINN TPIPNON (size) DWOPPIIND TWN DTN (imarr)

DTPRY 12D im VPPAIND ANV YTH Imarr TN VPYAINGD DY
LONDYOPN 0N PN
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_ (MMP3 20) 4 990N NINY
NN NDOTR /7 NPTIAN o+ 3 (INT19) MPNPND DINAN DXPYONN TNX 935 23D

DY 9T AN (int) ©M5Y TIWH I0NI9D NYAPHD NPIPNONN ANK 5 .UP1Iann
PDONPI TPEPNG N0 ¥ 2 PYDa 13D

MY (ORI MDY TN ¥ OX true MNN MIPNON (MNP 6) (N
PINN NINN, 17 ONI0Y (DApY DDIIRN DY I120) DXIRD DY9900
false

2311 DY DARND DI DY) TN DN DINAND DI AN (MNP 6) (2
SPONPAA UHNNT NN - {72) NT PO

TI20) DNOWR TANY PR TN ,DM0W AW ¥ T AN 030 (N 8) (
DYIAND 99 NN DDTAY WY (TNN 1Y P ¥ ONDY PINRDT PUNIN 1IN0
(D999 19971 XY 17INNM NYNIN 1AXN) DNNIOY YN DTN
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#include <tostream.h>
class vector2 {
double x, y;
public:
vector2(double a, double b){ x=a; y=b;}
virtual void print(){ cout<<x<<” “<<y<<endl; }
void scale(double t){ x*=t; y*=t; }
double getx(){return x;}

double gety(){return y;}
3
class complex: public vector2 {
public:
complex(double a, double b):vector2(a,b){}
virtual void print() { cout<<getx()<<” + i*”’<<gety()<<endi; }
void scale(double t){ vector2::scale(t); print(); }
i
void main(){
vector2 v1(1.0,0.5), ¥v2;
v2=new complex(5.5,3.0);
vl print();
v2->print();
v2->scale(0.5);
v2->print();
) _

INONON) SYMN TINPND WK D v2->scale(0.5); nTipaa (MNPl 5) (K
I8P 1200 Hcomplex NPYNN W vector2 NP2Nna NN
9T DINN IR (MM 10) (3

print PSPNON MM virtual NPHRN AR T ON 7P D (MNP 5) O
YT Y200 TR NAPR 09N N 0 H{MPONNH YNY1)
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#include <iostream.h>
#define S 20
void swap(char &cl, char &c2){
char tmp=cl;
cl=c2;
c2=tmp;
}
void what(char str[]){
int i=1,j;
for (; i<S && str[i]; ++i)
for(j=i; j>0; --j)
if{strljl<str(3-11)
swap(str[j], str{j-11);

void main(){
char str[S]="abccbabac";
what(str);
cout<<<str,
| ,
reference > DXNYW) DY swap IIPNOT NI 710N (MNP 3) (N
1 reference N99 1T NPY¥PNS DIOWHHN W11 TX (char&)
what 8PN nyNan Nn (MM 7) (2
OSSR TINN NN (MNP 7

i -w 9ppon Twn o H<S && stri] aonn mypwn T (MNP 3
MIMINNA YAPNH
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VHDL :73 pp

1Yy 20) 7 9998 nONY
: : N3N NNDINN NN
IPPONY 21907, NNy 7 iy 1 noind (TestBench) 11y 23050 v (6 N
JIPTAMN BAN0INN NYYIND SYNDHOO0INN DR MNITY PN .RINDY 8O NPy 18nY
T VY 120 TRR (Process) TN My IHOINSPNG I NN IR v (MM §) .2
SN MIMpPS
DYMINIRD DMADN I NN ANNNAD AWPNY TIIND DN D v (MM 6) 3
DWIN Yy PApnY .oMPa TIoND »13 st <91 clk <5 oM NIAA IR MININY PR .O0WANY
L2

library ieee;
use ieee.std_logic_1164.all;
entity dff is
port (clk, rst:; in std legicy
d: in std logic:
q: out std logic);

and;
architecture rtl of dff is
begin
process (clk, rst)
begin
if rst='1" then g<='0";
elsif clk'event and clk = '1' then
g<=d;
end if;
end process;
end;

library ileee;

use ieee.std_logic 1164.all;

use ieee.std_logic_arith.all;
use ieee.std_logic unsigaed.all;

entity dffs_xors is
GENERIC (Size: INTEGER:= 3);
port(d, clk, rst: in std logic;
-q: out std logic_vector (Size~1 downto 0));
end;
architecture for _gen of dffs_xors is
COMPOMENT dff
_ portid, clk, rst: in std_logic; q :out std_logic);
~ end component;
SIGNAL g3ig: std logic_vector {Size-1 DOWNTC 0):
SIGNAL dSig: std_logic_vector (Size-1 DOWNTC 0):

{others=>'0");
(others=>'0"};:

nou

out_leoop: FOR i in 0 to size-l GENERATE
all_ffs: dff port map(d=>dSig(i}, clk=>clk, rst=>xst,g=>qSig(i)):
end GENERATE out_loop;
xors: FOR 1 IN i TC size-1 GENERATE
dsig(ij<=gsig{i~1l) XOR dsig(i-1};
END GENERATE xors;

g<=g8ig; end;
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library ieee;
use ieee,STD IOGIC 1164.ali;
use leee.STD_LOGIC ARITH.all;
use leee.STD_LOGIC_UNSIGNED.all;
entity div is
generic (size: NATURAL:= 8);
port (clk: in BIT:
rst: in BIT;
input: in std_logic_vector(size-1 downto 9);
div_by: out std_logic}i
end div:
architecture div of div is
signal count : std logic_vector(size-1 downto 0});

begin
process {rst, clk)
begin
if rst = '1' then
count<={others=>'0");
div_by<='0";
elsif clk'event and clk = '1l' then
if count = input - 1 then
count<={others=>"'0"j;
div_by<='0";
else
if count > SHR({input,"01") -1 then
div_by<='0';
else
div_by<="1";
end 1if;
count<=count+l;
end if;
end if;
end process;
end; ’

HY 1Y DIV MY TINGN NYA0N AN NIHD ¥ N 30 5PYD 19)0IND Y (YT

count div_by
0

St = ] W] B W) R =

div_by ©99n bw 053N ;MK AR ED DN PIY MINDIVN AN DODWND ¥

W B) .
:dhtby
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IR NYHTINN AIYN DN MY : NIN NIPHN A BIRIN AY20N N XYY W (MNP 6) .2

TININ DMNYT IR DWW NP RIY
if count < conv_integer(input)/2 then

count div_by
0

O AF N W] B W ] e

NN9INT AUITION NIWN BIK TR NN NAPBA MY IRIN NP0 IR KOND W (MY 6) 3
NN TN AR DWW PRI

if count <= ccnv_integer (input) /2 -1 then

count div_by
0

) =] A o] B ) e

My
IR FITA DYNINY TINAY MeNynn ooz np SHR oypnan e

MOPNA RRIINDY MINNY MENEBN NIV NP conv_integer MPNPNSN o

Anteger oM MY 2-3 PIPNI YHRYNY 1 .integer -7
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library ieee;
use iece.std_togic 1164.all;
use {cee.std_logic_arith.all;
use ieee.std_logic unsigned.all;
entity up_down_dir3 is
generic(n: natural;=4);
port (clk: in BIT; rst: in BIT;
low_in, high in: in STD_LOGIC_vector(n-1 downto 0);
output: out std_logic_vector(n-1 downto 0));
end up_down_dir3;
architecture up_down_dir3 of up_down_dir3 is
signal output_sig: std_logic_vector(n-1 downto 0);
signal dir; BIT;
begin
direction: process (cIX, rst)
begin
if rst="1"then
dir<="0",
elsif CLK'event and CLK ="' then
if output_sig = high_in then
dir<="1";
elsif output_sig = low_in then
dir<='0";
end if;
end if;
end process;
up_down: process (clk)
begin
IF CLK'event and CLK ="}' then
IF rst='1" then output_sig<=high in;
ELSE
IF dir="0' THEN
if output_sig /= high_in then
output_sig<= output_sig + I;
end if;
ELSE
if output_sig /= low_in then
output_sig<= output_sig - 1;
end if}
END IF;
END IF;
END IF;
end process;
output<= oytput_sig;
end up_down_dir3;

10
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- 100y
low_in =0, high_in=5

Nyw 1NN 10 M3y output Sy D»NUYN DIIYN AN DWW ¥ (NP 6) N
WY IBRNN 10 PIRNDY NS v 1st="10 1w 090} DR NOY
.oaNarst -nvo

IN YD a0V a3 output oY Ty Y50 dir 27y NN DWW W (MMP 6) .2
J1 N OYNT AN RRODRN NYI0 MINT W

MY (TestBench) NPY [P ,DIOVNN/TINN DNOY ¥ (MNP 8 D
T, low_in, high in 7255 029y Mt NYOHY 57512 PN NPYN Y0
Pwnn 5950 N9 Y 210D PN Y Pyea clk, rst Moo 0ONNn NPY
MPYN NN DXOHN DIINN/TONNN NN PI,000PM

11
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library ieee ;
use leee.S5TD _LOGIC_1164.all;
use ieee.STD_LOGIC ARITH.all;
use ieee.STD_LOGIC UNSIGNED.all;
package pack is

procedure cnt(vec: in std logic vector:

: ones: out std_logic vector):

end;

nN Moonw package body Tina ent DY TS 1IN0 W (MDY 8) X

¥ DTN 7900 AN T NON HDNRY Vec NOPNA DYTNRD 190D
VEC TIIND NNT 1IN ones MOPND 9000

13 AYRHYNI DN NIVTNNOY INNPN NIV 1PN 1IN32 ¥ (MNP 6) .2

VEC_In NDMIN 0PN DYTNND POV
: PUNNN Y

library ileee; use ieee,STD LOGIC 1l164.all:
use ieee.STD_LOGIC ARITH,all;
use ieee.S5TD LOGIC UNSIGNED.all;
use work.pack.all;
entity test procedure is

generic{size: integer:=4);

port{vec_in: in std_logic_vector({size-1 downto 0}

ones_out: out std logic vector{size-1 downto 0});

end;

12
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790N NPATY (127101 DNMDHN MIMPHRI) ININ AN AN DVYHD ¥ (MNP 6}

NAN NIRRT 0YIN POIND YOOI .(P) &) NPD 4 11 NN NOPNI DMINND
LIBRARY IEEE;
USE IEEE.STD LOGIC 1164.ALL;
PACKAGE pkg IS
COMPONENT Ha
PORT{ a, b: IN 3TD LOGIC;
sum, cout: CUT STD_LOGIC);
END COMPONENT ;
COMPONENT Fa
PORT{a,b,c: IN STD_LOGIC;
sum, cout: OUT STD LOGIC):
END COMPONENT;
END pkg;
LIBRARY IEEE;
USE IEEE.STD_LOGIC _1164.ALL;
ENTITY Ha IS
PORT( a, b : IN STD_LOGIC;
sum, cout :0UT STD LOGIC):
END ha;
ARCHITECTURE ha OF Ha IS
BEGIN
sum <= a XOR b;
cout<= a AND b;
END ha:;
LIBRARY IEEE;
USE IEEE.STD LOGIC_1164.ALL;
ENTITY Fa IS
PORT( a, b,c :IN STD_LOGIC;
sum, cout :0UT STD _LOGIC):
END fa:
ARCHITECTURE Fa OF Fa IS
BEGIN
sum <= a XOR b xor c;
cout<= (a AND b) or {a AND ¢) or (b AND c);
END fa:
LIBRARY IEEE;
USE IEEE.STD LOGIC_1164.ALL;
USE WORK.PKG.ALL;
ENTITY cnt IS
PCRT (vec: IN STD_LOGIC vector(3 downto 0);
ones: OUT STD_LOGIC_vector{Z downtc 0});
EMD;

ARCHITECTURE struct OF cnt IS
SIGNAL sig: STD_LOGIC vactor {4 downtc 0};

BEGIN
boxl: Ha port map (a=> , b=> , Sun=> , cout=> )
box2: Ha port map (a=> yb=> , Surm=> , cout=> Y:
box3: Ha port map (a=> , b=> , Sum=> , Cout=> )z
boxd: Fa port map (a=> P => , C=> ; sum=> r

L, cout=> ) ; '
END;
13
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